BOARD REVIEW QUESTIONS  (MM—49-50) – SESSION NO. 26,   May 15, 2003

Last Session

DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1. 
Addition of 20 cmH2O positive end-expiratory pressure to a patient receiving controlled mechanical ventilation decreases cardiac output and left ventricular function by

(A)
increasing right ventricular preload

(B)
increasing right ventricular afterload

(C)
increasing left ventricular preload

(D)
increasing left ventricular afterload

(E)
producing myocardial ischemia

90A-11 (19,22)

2. 
A man with alcoholic cirrhosis and a hemoglobin concentration of 10 g/dl has an intraoperative PaO2 of 75 mmHg at an FiO2 of 0.5. Which of the following is the most likely cause of the low PaO2?

(A)
Anemia

(B)
Decreased cardiac output

(C)
Increased dead space

(D)
Intrahepatic arteriovenous shunts

(E)
Intrapulmonary arteriovenous shunts

90A-27 (34,35,22)

3.
After tracheal extubation, a healthy 21-year-old man has a 30-second episode of laryngospasm with marked intercostal and sternal retractions, which are corrected with continuous positive airway pressure administered by mask. He now has dyspnea and tachypnea, and a roentgenogram of the chest shows diffuse bilateral interstitial edema. The most likely cause is increased

(A)
airway reactivity

(B)
intrapleural pressure

(C)
left ventricular afterload

(D)
right ventricular preload

(E)
transpulmonary vascular pressure

90A-50 (22,5)

4. 
A healthy, spontaneously breathing, supine, anesthetized patient has an arterial to end-tidal carbon dioxide tension dif​ference of 3 mmHg. Following institution of mechanical ventilation the value increases to 12 mmHg. The most likely cause of this change is

(A) cephalad displacement of the diaphragm

(B) decreased production of carbon dioxide

(C) increased cardiac output

(D) increased shunting of blood through dependent lung zones 

(E) increased ventilation of nondependent lung zones

90B-91 (22)

5. 
A 57-year-old man who weighs 150 kg and is 170 cm (67 in) tall is scheduled for cholecystectomy.   He has a 100 pack-year smoking history. Which of the following findings on pulmonary function testing are most likely?

	
	FVC (liters)
	FEY (liters)

	(A)
	2.5
	1.5

	(B)
	2.5
	2

	(C)
	2.5
	4.5

	(D)
	6
	2

	(E)
	6
	4.6


91A-127 (22,23)

6. 
After a gastric stapling procedure, a 150-kg woman is extubated and breathing spontaneously in the recovery room at a rate of  26/mm and an FIO2 of  0.5. Arterial blood gas analysis shows PaO2 96 mmHg, PaCO2 44 mmHg, and pH 7.37.   The parameter most closely related to her increased alveolar-arterial oxygen tension gradient is

(A)
decreased expiratory reserve volume

(B)
decreased minute volume

(C)
decreased residual volume

(D)
decreased total lung capacity

(E)
rapid respiratory rate

91A-143 (22)

7.
In a patient who has undergone cholecystectomy, which of the following is the most likely pulmonary effect of systemi​cally administered opioids?

(A)
Decreased Qs / Qt

(B)
Decreased dead space

(C)
Restored vital capacity

(D)
Restored functional residual capacity

(E)
Shift of the carbon dioxide response curve to the right

91A-136 (8,18,49)

8.

Following a thyroidectomy, a patient develops severe dyspnea, inspiratory stridor, and cyanosis in the recovery room. On physical examination, the neck appears full. Attempts at bag-mask ventilation are unsuccessful. Immediate therapy is to

(A) administer calcium chloride

(B) perform an emergency tracheostomy

(C) open the wound and institute bag-mask ventilation

(D) return the patient to the operating room 

(E) perform endotracheal intubation

92A-94 (49,39)

9.
A patient becomes flushed, dyspneic, and hypotensive during transfusion of 1 unit of packed red blood cells in the PACU. After discontinuing the transfusion, the most appropriate next step is administration of

(A)
aminophylline

(B) cimetidine

(C) diphenhydramine

(D) epinephrine

(E) hydrocortisone

92A-160 (49,29)

10.
A 32-year-old man who is addicted to opioids complains of pain in the PACU one hour after fixation of a mandibular fracture. He has received intravenous morphine 30 mg during the past hour. The most appropriate management is

(A)
continued intravenous administration of morphine until the pain resolves

(B)
intravenous administration of nalbuphine in 5-mg increments until the pain resolves

(C)
intramuscular administration of hydroxyzine 75 mg

 (D)
evaluation for entrapment of the mandibular nerve

 (E)
evaluation for drug-seeking behavior

92B-7 (49,8)

11.
A patient has fever and chills in the recovery room following an abdominal hysterectomy that required the intraopera​tive administration of whole blood 1 unit. A blood sample drawn in the recovery room shows no free hemoglobin. Sub​sequently, packed red blood cells 1 unit and fresh frozen plasma 1 unit are administered, and the fever and chills recur.

The most likely cause of the fever and chills is

(A)
an allergic-type transfusion reaction

(B)
a hemolytic transfusion reaction to untested antibodies

(C)
bacterial contamination of blood

(D)
a reaction to leukocytes contained in the plasma

(E)
the presence of cold agglutinins in the patient

92B-47 (29,49)

12. Which of the following can be used as a sole criterion for brain death?

(A) Absence of cerebral blood flow

(B) Absence of doll’s eye movements

(C) Fixed, dilated pupils

(D) Isoelectric EEG

(E) Unresponsiveness to all externally applied stimuli

90A-70 (48,50)

13. Postoperatively, a patient is being mechanically ventilated by a constant-flow, pressure-cycled ventilator with the follow​ing initial settings: inspiratory/expiratory (I/E) ratio of 1:2, peak inspiratory pressure (PIP) of 25 cmH2O, and rate of 10/min. One hour later, the I/E ratio is 1:4. Which of the following would ensure that the minute ventilation is the same as that initially set?

(A) Inflate the endotracheal tube cuff to prevent leakage

(B) Double the respiratory rate

(C) Decrease the expiratory pause until the I/E ratio is 1.0

(D) Increase the PIP until the I/E ratio is 1:2

(E) Increase the PIP to 50 cmH2O

90B-82 (22,50)

14. Volume-cycled flow generators are preferred over pressure-cycled ventilators in critical care units because they

(B) have a lower compression volume

(C) limit peak airway pressure

(D) maintain constant ventilatory volume with changes in lung compliance

(E) more readily compensate for gas leaks

(F) permit more accurate measurement of the patient’s minute volume

92A-108 (50,22,4)

15. Preoperative evaluation of a patient who has marked malnutrition will demonstrate each of the following EXCEPT
(A) decreased respiratory muscle function

(B) decreased serum albumin concentration

(C) decreased metabolic rate

(D) suppressed immune function

(E) decreased extracellular fluid volume

92A-170 (50)

16. A patient being mechanically ventilated in the ICU requires wound debridement twice daily. Each of the following agents would be appropriate for induction of brief general anesthesia EXCEPT

(A) nitrous oxide

(B) etomidate

(C) ketamine

(D) methohexital

(E) midazolam

93A-168 (50)

17. Which of the following statements concerning pressure support ventilation is true?

(A) Continuous positive airway pressure is provided during inspiration and expiration

(B) Delivered tidal volume remains the same with decreasing lung compliance

(C) Inspiratory effort less than –2 cmH2O is not assisted

(D) The overall work of breathing decreases when weaning from mechanical ventilation

(E) The patient will need more sedation than during intermittent mandatory ventilation

93B-40 (3,50)

18. A 35-year-old woman with systemic lupus erythematosus is admitted to the critical care unit following sudden onset of severe chest pain. Examination shows tachycardia, hypotension, pulmonary edema, and a blowing systolic murmur in the left parasternal region. The most appropriate management is

(A) aerosol administration of terbutaline

(B) intravenous infusion of phenylephrine and nitroglycerin

(C) intravenous infusion of esmolol

(D) intravenous infusion of epinephrine and nitroprusside

(E) volume loading with lactated Ringer’s solution

93B-56 (50,19)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

                                                                   D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1,2,3
1,3
2,4
4
All are


only
only
only
only
correct
19. Chronic hyperglycemia from excessive glucose administration during parenteral hyperalimentation causes

(1)  retinal degeneration

(2) depression of granulocyte function

(3) inhibition of platelet aggregation

(4) hypercarbia

93A-10 (50,36)

20.  The administration of mannitol 1 g/kg over 15 minutes produces an acute increase in

(1) serum potassium concentration

(2) central venous pressure

(3) systemic vascular resistance

(4) serum osmolality

93B-112 (47,50)

